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Q) If the substitution effect of the real interest rate on saving is larger than the income effect of the real

interest rate on saving, then a rise in the real interest rate leads to a in consumption and a X
in saving, for someone who's a lender. X

A) fall; fall R
%

B) fall; rise %
JC) rise; rise Ep
D) rise; fall J4)

I(2) If nominal money supply grows 3% and real money demand grows 8%, the inflation rate is
A) -5%.

B) 8/3%.

{C) 5%.

D) 11%.

1(3) Suppose the economy's production function is ¥ = AKO0-3N0.7_ Suppose K = 200, N = 2000, and 4 =
1. Calculate the marginal product of capital.

A) 1.0
B) 1.5
IC) 2.0
D) 2.5

l(4) Because of price stickiness in the Keynesian model, a decline in investment demand will not cause
the

A) LM curve to shift down and to the right in the short run.

B) LM curve to shift in the long run. .

FC) IS curve to shift down and to the left in the short run.

D) IS curve to shift in the long run.

. l(5) If the real exchange rate rises 4%, domestic inflation is 2%, and foreign inflation is 0%, what is the
percent change in the nominal exchange rate?

A) 6%

B) 4%

1C) 2%

D) 0%
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#(1)Constant return to scale ° (5%°) (2) Economic efficiency ° (547)
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